% [ 2 = O B =R

OB R FEY OB - 10 0% (L mFE AL @ nd)
MKy | AEE | PSR | SRR | AR A 1 H
®m 4 | RC| 5 3,742 | S38.4 H30 i A 58 15375 A
w 4 | RC| 3 513 | S38.4 H30 [ R A 7R L 2
w 4 | RC| 3 1,257 | S39.4 H30 i 5= i i L5355 7
w 4 | RC| 3 1,215 | S52.4 H30 i R A 78 L 2
REHE S 2 1,193 | S40.4 H30 i R A 78 L 2
A Ft 7,920
ORIEREEELREMOMELE : 10 0% CREEmFEHAL @ )
XSy | M | SRR | ARSI | @SR A 1 H
w4 | RC | 3 5,025 | S56.6 BrimEAEEE A BT )
KERE | S/RC| 1 1,025 | S56.6 BrimEAEEE A BIET 2 )
& &t 6,050

XS/RC ITERBE kA = > 27 U — b

OB FIBEY OB - 10 0% (S mFE AL @ nd)
MKy | AEE | B | RS mRE | A A 1 H

® & S 4 1,159 | H16.10 | #7ifi s 2 e

kEfE | RC | 2 730 | H16.10 | #rifi 5= 5 e

& & 1,889
ORI 7 B FHER M O ELE - 10 0% (EEEmFE AL @ )
Xy | A | B | AR | AR 1 ]

EA S 1 223 | S47.4 H30 i 52 il i L5 7

& S 1 403 | S56.9 BT 7 R M A

& Fl 626




